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MAD 3512: Quiz #1 - Fall 09 TIME: 25 min.

Just write "TRUE" or “pALggw
(10) 1(a) For any language A on {0,1}, we always have (A*)R =(ar)* .

(b) The set of all co-finite languages on {a,b} is countabile.

(c) If a regular expression E contains a*, then L(E) £g¢.

(d) If all states in a8 DFA M are accessible, then L(M} £g.

(e) If G is a CFG with & production of the form S~ASA and G
has no useless production, then L(G) is infinite.

Just write down the correct answer.

(18) 2(a) Find a regular expression E for the set of all strings in {0,1,2}"
which contains at most two 1'sg,
Ansg: E =

(b) If G={S-asSBB, g-aa, B-b, B+A}, then
L(G) =

(¢} If M is the NFA on the right, then

L(M) =

(d) Find a RLG G for b'.2a".b.a

Ans: G =
(e) Find a DFa M with L{M)={(0".1)+(1")

Ans: M =

Use the back of this baper for gquestion #3.
2) 3(a) A regular expression over {a,b,c} is a string on which alphabet?
(b) Define what is an ambiguous context-free grammar G.
(c) Define when two states of a DFA M are indistinguishable.

(d) Define the extended tfansition function of an DFaA M.
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